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All flavor & interaction (Murakami) : Parl: Nsk=198.83/195.51 All flavor & interaction (Tom) : Parl: Nsk=198.83/195.51
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All flavor & interaction (Murakami) : Par2: Nsk=200.22/194.12
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All flavor & interaction (Murakami) : Par3: Nsk=200.69/193.65
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All flavor & interaction (Murakami) : Par4: Nsk=203.14/191.20
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All flavor & interaction (Murakami) : Par5: Nsk=198.95/195.39
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All flavor & interaction (Murakami) : Par6: Nsk=198.31/196.03
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All flavor & interaction (Murakami) : Par7: Nsk=197.65/196.68
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All flavor & interaction (Murakami) : Par8: Nsk=197.80/196.54
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All flavor & interaction (Murakami) : Par9: Nsk=197.45/196.89
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All flavor & interaction (Murakami) : Par10: Nsk=197.25/197.09 All flavor & interaction (Tom) : Par10: Nsk=197.24/197.09
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All flavor & interaction (Murakami) : Par11: Nsk=197.19/197.15
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All flavor & interaction (Murakami) : Par31: Nsk=213.55/177.81
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All flavor & interaction (Murakami) : Par32: Nsk=200.57/193.69 All flavor & interaction (Tom) : Par32: Nsk=200.57/193.69
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All flavor & interaction (Murakami) : Par33: Nsk=209.84/184.50 All flavor & interaction (Tom) : Par33: Nsk=209.84/184.50
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All flavor & interaction (Murakami) : Par35: Nsk=197.82/196.52 All flavor & interaction (Tom) : Par35: Nsk=197.82/196.52
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All flavor & interaction (Murakami) : Par36: Nsk=203.19/191.15 All flavor & interaction (Tom) : Par36: Nsk=203.19/191.15
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All flavor & interaction (Murakami) : Par37: Nsk=199.16/195.18 All flavor & interaction (Tom) : Par37: Nsk=199.15/195.18
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All flavor & interaction (Murakami) : Par38: Nsk=197.73/196.61 All flavor & interaction (Tom) : Par38: Nsk=197.73/196.61
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All flavor & interaction (Murakami) : Par39: Nsk=192.34/202.00 All flavor & interaction (Tom) : Par39: Nsk=192.34/206.82
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All flavor & interaction (Murakami) : Par40: Nsk=197.36/196.91 All flavor & interaction (Tom) : Par40: Nsk=197.36/196.91
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All flavor & interaction (Murakami) : Par41: Nsk=198.30/196.04
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All flavor & interaction (Murakami) : Par42: Nsk=197.65/196.69 All flavor & interaction (Tom) : Par42: Nsk=197.65/196.69
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All flavor & interaction (Murakami) : Par45: Nsk=194.87/198.62 All flavor & interaction (Tom) : Par45: Nsk=194.89/198.61
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All flavor & interaction (Murakami) : Par46: Nsk=205.11/189.23
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All flavor & interaction (Murakami) : Par47: Nsk=199.77/194.57
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All flavor & interaction (Tom) : Par47: Nsk=199.77/194.57
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All flavor & interaction (Murakami) : Par48: Nsk=197.35/196.99 All flavor & interaction (Tom) : Par48: Nsk=197.29/197.05

o g = 10 o e 10
% 16;" % 16;"
o 14F —lo o 14fF —-lo
S 12t 3 S 12 3
10 = 10 =
8 = 8 =
6F 3 6F 3
4H 3 4H 3
\: — \; —
o g o e
Recon Enu [GeV] Recon Enu [GeV]
Spec ratio (Tom/Murakami) for +1 : Norm diff=-0.03 % Spec ratio (Tom/Murakami) for -1 : Norm diff=0.03 %
L4 e e 1.04 e e e
1.03f = 1.03F =
1.02F 3 1.02F 3
1.01F = 1.01F =
15 i i i
0.99F 3 0.99F 3
0.98F = 0.98F =
0.97F = 0.97F =
D e e L e e e A I
Recon E, [GeV] Recon E, [GeV]



All flavor & interaction (Murakami) : Par49: Nsk=201.90/192.44
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All flavor & interaction (Tom) : Par49: Nsk=201.38/192.96
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All flavor & interaction (Murakami) : Par50: Nsk=199.18/195.16 All flavor & interaction (Tom) : Par50: Nsk=199.14/195.20
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All flavor & interaction (Murakami) : Par51: Nsk=206.25/188.08 All flavor & interaction (Tom) : Par51: Nsk=206.25/188.08
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All flavor & interaction (Murakami) : Par52: Nsk=197.20/197.13 All flavor & interaction (Tom) : Par52: Nsk=197.20/197.13
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All flavor & interaction (Murakami) : Par53: Nsk=200.64/194.04 All flavor & interaction (Tom) : Par53: Nsk=200.64/194.04
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All flavor & interaction (Murakami) : Par55: Nsk=197.17/197.17 All flavor & interaction (Tom) : Par55: Nsk=197.17/197.17
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All flavor & interaction (Murakami) : Par56: Nsk=197.26/197.08 All flavor & interaction (Tom) : Par56: Nsk=197.25/197.08
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All flavor & interaction (Murakami) : Par57: Nsk=197.23/197.11
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All flavor & interaction (Tom) : Par57: Nsk=197.23/197.11
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All flavor & interaction (Murakami) : Par58: Nsk=201.10/193.24 All flavor & interaction (Tom) : Par58: Nsk=201.10/193.24
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All flavor & interaction (Murakami) : Par59: Nsk=197.17/197.17 All flavor & interaction (Tom) : Par59: Nsk=197.17/197.17
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All flavor & interaction (Murakami) : Par60: Nsk=197.41/196.93 All flavor & interaction (Tom) : Par60: Nsk=197.41/196.93
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